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Blood Relation Questions for Bank Exams (IBPS PO Pre,
IBPS SO Pre, IBPS Clerk, SBI PO Pre & SBI Clerk)

Blood Relations Quiz 11

Directions: Study the following questions carefully and answer the questions
given below.

H who is a renowned doctor in the city and who is also the father of Q, has two cute
grand-daugthers C and S. K got married a certain numbers of years ago and now has
only two sons. R who is extremely chirpy is sister-in-law of I. Cis not taller than S. R is
shorter than three persons but taller than her daughters. When it comes to plucking
grapes the males have an advantage of their heights over the females in the family. |
is shorter than his brother and father. There are two married couples in the family.
The one who is the eldest in the family is the tallest as well. S is not taller than her
grandmother.

Questions:

1. How many persons are taller than K?

A.One B.Two C.Three D.Can'tbedetermined E. None of these

2. Who among the following is mother of I?

AAH B.C CK D.R

3. Who among the following is the shortest?

A.C B.S CK D.Q E.Noneofthese

4. How is S related to I?

A. Nephew B. Niece C.Daughter D.Can’t be determined E. None of these
5. How is K related to H

A. Wife B.Husband C.Brother D.Son E.None of these



Correct Answers:

Explanations:

1.

Heights of family members in descending order are as per the following sequence:
H>Q>I>R>K>S>C

The family tree is given below:

It’s evident from the ‘height sequence’ that 4 persons are taller than K.
Therefore, option ‘E’ is the correct answer.

2.

Heights of family members in descending order are as per the following sequence:
H>Q>I>R>K>S>C

The family tree is given below:



It’s evident from the ‘family tree’ that K is mother of I.
Therefore, option ‘C’ is the correct answer.

3.

Heights of family members in descending order are as per the following sequence:
H>Q>I>R>K>S>C

The family tree is given below:

It’s evident from the ‘height sequence’ that C is shortest in all of them.
Therefore, option ‘A’ is the correct answer.

4,

Heights of family members in descending order are as per the following sequence:
H>Q>I>R>K>S>C

The family tree is given below:



It’s evident from the ‘family tree’ that S is niece of I.
Therefore, option ‘B’ is the correct answer.

5.

Heights of family members in descending order are as per the following sequence:
H>Q>I>R>K>S>C

The family tree is given below:

(H K]
|

1'1Q) R}

_l —

C S

It’s evident from the ‘family tree’ that K is wife of H.
Therefore, option ‘A’ is the correct answer.
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